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Area - Volume Problems

Multiple Choice .
Identify the choice that best completes the statement or answers the question.

Underlined questions are calculator required; others are no calculator.

Volume of revolution: 6,

Volume by slicing: 7, 8,9, 10, 11 o
4= %

Area: 1,2,3,4,5 m-.ﬂ\x D/lm\*

1.The area of the region enclosed by the graph of y = x* + 1 and the line y=S5is
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y -axis, the volume of the solid generated is
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%m. If omwAW and the area under the curve y = cosx from x =k to num is 0.1, then k=

v

6. If the region enclosed by the y-axis, the line y = 2, and the curve ¥y =+/x is revolved about the

4 =X |

The base of a solid S is the region enclosed by the graph of y = Jlox, the line x =¢, and Bm
x-axis. [f the cross sections of § perpendicular to the x-axis are squares, then the volume of S'is
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. The base of a solid is the region in the first quadrant egalosed by the graph of y = 2-x* and the
coordinate axes. If every cross section ¢ Td perpendicular to the y-axis is a square, the volume
of the solid is given by
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The base of a solid is 2 region in the first quadrant bounded by the x-axis, the y-axis, and the line
x+2y =8, as shown in the figure above. [f cross sections of the solid perpendicular to the x-axis are ,.ﬂ/ — —_—
semicircles, what is the volume of the solid? — m~ X m

a 12566 VA \\l\.m o Q\Nw \Mul

b, 14661

e ?Wﬂzx+m % L D\>
e 134.041 ‘ - — ,ﬁ b p — u*l

" 11. The base of a solid is the region in the first quadrant bounded by the y-axis, the graph of y = tanx, the | O
horizontal line y =3, and the vertical line x = 1. For this solid, each cross section perpendicalar to the x-axis
is a square. What is the volume of the solid?

a. 2.561
@ QEN
c. 8.046
d. - 8.755
e. 20773
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